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Math Test - No Calculator

25 MINUTES, 20 QUESTIONS

Turn to Section 3 of your answer sheet to answer the questions in this section.

DIRECTIONS

For questions 1-15, solve each problem, choose the best answer from the choices
provided, and fill in the corresponding circle on your answer sheet. For questions 16-20,
solve the problem and enter your answer in the grid on the answer sheet. Please refer to

the directions before question 16 on how to enter your answers in the grid. You may use
any available space in your test booklet for scratch work.

1. The use of a calculator is not permitted.

2. All variables and expressions used represent real numbers unless otherwise indicated.
3. Figures provided in this test are drawn to scale unless otherwise indicated.

4. All figures lie in a plane unless otherwise indicated.

5. Unless otherwise indicated, the domain of a given function f is the set of all real numbers x for
which f(x) is a real number.

REFERENCE

/
W ih b K > 60.1'
] 30°
b a I\E s
A = zr? A=Ftw Az%bh
Co=2nr
l/ Qh e 1
2.
4
V=FV{wh V = nr?h

The number of degrees of arciin a circle is 360.
The number of radians of arcin a circleis 2r.
The sum of the measures in degrees of the angles of a triangle is 180.

April QAS 2017

Unauthorized copying or reuse of any part of this page isillegal. 33



https://v3.camscanner.com/user/download

A farmer sold 108 pounds of produce that consisted
of z pounds of zucchini and ¢ pounds of cucumbers.
The farmer sold the zucchini for $1.69 per pound :
and the cucumbers for $0.99 per pound and collected the expression above?
a total of $150.32. Which of the following systems of ) M &
equations can be used to find the number of pounds 3x°=7x=3 O - 343 - 2"~z

of zucchini that were sold?

B) 3x*+7x-3
A) G = (B0 fod C) 5x2—5x—3
1.69z+0.99¢ = 108 1-6‘32*9'99(3’]595’32 :
, D) 5x2-9x-3
Vi z+c = 108 ] =P
1692+ 099 = 150.32
) z+c = 108
099z+169 = 15032 A A
D) z+c = 150.32 QS» QS\'
0.99z+1.69¢ =

108 ‘& @%

>

¢$§° A) 8and6
é B) 4and -2

& C=10x+4y Q @ =4 and3
‘Q'I he formula above gives the monthly cost{&) D) V6
é‘ dollars, of operating a delivery truck dhe driver

works a total of x hours and when y gaMons of

gasoline are used. If, in a particular month, it cost no

more than $2,000 to operate the truck and at least

150 gallons of gas were used, what is the maximum
number of hours the driver could have worked?

A) 125
B)
c) 500 20004 toa+4150)

D) 1,400 2000 < foae+ 600

oo < oz
1o <%
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5x% — 3(1 —x) —2x(x+5)

St : Fu-3

x(x+2)=8

: Q hich of the following lists all snlutinna*‘}
quadratic equation above?
S S

Which of the following polynomials is equivalent to
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E \Bo-15=b%

Note: Figure not drawn to scale.

In the figure above, BC and AD are parallel, AB
and EC are parallel, CD = CE, and the measure of
ZABC is 115°. What is the measure of Z/BCD ?

b5+ S0 =115

0.8p =t R

At a store, a coat originally priced a llars is on
sale for ¢ dollars, and the relation§g§p between p and
t is given in the equation above. What is p in terms :

of t? p: +
A) p=t-0.8 0
B) p=0.8t

0.8
C) p==r

N\
&
\ of this page isillegal. 35
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x+2y=16
(0.5x-y=10) %

The solution to the system of equations above is
(x, y). What is the value of x ?

A) 2 L+ =16
o - =2a

B) 2
Q.= 3§

@ 18 o= |8

D) 36

N
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Which of the following is the graph of the equation y = 2x + 3 in the
xy-plane? Ve S\GFE
" yve Y-t

LY

ERE

| |
dERESEEEPN
—

»
5 »
{ S

¥ &°

i
®®

NS & &
S = S

x2—6x+11=y 5 i 4.8

x=y+1 x-1 Zx-1)
The system of equations above is graphed in the Which of the following EIP‘;ESSi“ﬂs is equivalent to
xy-plane. Which of the following is the y-coordinate ) the one above, where x # 11
of an intersection point (x, y) of the graphs of the @ 9 i W 5
two equations? : P | x-|  oat %
25 o (ﬂ-{-'f} ok 6(5-;1) +”.-.-j )

- > | = B)

B) =2 j*ﬂﬂﬁ_ﬁﬂ_ b+l 8 x—1
@ 2 §"- By +b=4 .
D) 4 dt' 9ﬁ+h=ﬂ 2x -2

(9-2)(9-3) .

N | N
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For a positive real number x, where xS = 2, what is

the value of x

A) Y24

(D) 8

(13)3_—.. dEa = 3

&

s an equivalent form of

Which of the follo

{5, wher%;\ and k3 02
(%) (¥

1 X
A) f3ﬂ

&

&

Unauthorized copying or reuse of of this page isillegal.

N
o
Q)(
<0

The number of people who go to a public swimming
pool can be modeled by the function g above, where
c is a constant and f is the air temperature in degrees
Fahrenheit (°F) for 70 < # < 100. If 350 people are
predicted to go to the pool when the temperature is
E]_“_F , what is the value of ¢ ¢

A) 20 6?-.")0 - 5(?&}4&(‘5_ _95

375= 5 ( 630-12¢)
2
D) 80 750= 5( b20-12C)
N\ N\
150 = $30-12C
‘3\' 12C= 630-150 és\'

N
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e il

\
The boiling point of water at sea level i@c&éﬁs The graph of x? — 4x + y2 + 6y f;: 8111 the

Fahrenheit (°F). For every increase of 1,000 Teet

above sea level, the boiling point of water w i&# xy-plane is a circle. What is the radius of the circle?

approximately 1.84°F. Which of the following ~ _ A) 26 4 .

equations gives th¢ approximate boiling point B, in an{'c r (T 7 '—.,_') = (2; 3)

°F, at h feet above sea level? B) J11l

: - & .12 _-_, 3+

A) B=212-1.84h B h J37 (4 (@)% ko =da9van
B=212-(0.00184) h 1.4 1000 D) V76

C) B=212h

5 1
D) B=1.84(212)-1,000h
R ok 84 . 0.001%4
lodo
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DIRECTIONS

For questions 16-20, solve the problem and
enter your answer in the grid, as described
below, on the answer sheet.

1. Although not required, it is suggested that
you write your answer in the boxes at the top
of the columns to help you fill in the circles
accurately. You will receive credit only if the
circles arefilled in correctly.

2. Mark no more than one circle in any column.

3. No question has a negative answer.

4. Some problems may h; ore than one
correct answer. In s ses, grid only one
answer.

&

. i .
5. Mixed numl&uch as 3 5 must be gridded

\

as 3.5 Dt@{lf EI 1‘ f| 2|is entered into the
x P
gg&vill be interpreted as 3 not 31 )
2 2

answer with more digits than the grid ca
accommodate, it may be either round
truncated, but it must fill the entir

&

cimal answers: If you obtain a decimal %&

Answer: 1'12
Writ
iswar” [ Z1 7|12
in boxes.| .@
[0](0)(®)(®)
©|©|©@
00|@D
Q12|2|@®
Grid in_{ @ @ @ @
et @) @|@|@
G®B|IG
®|®|)|®
®22@
®|® '
9@

Xo

vi2/ /|3
§> L@
S OO0
| |©|©@|©
90©]©;
2@ 2|2
ool
@@ @@
B|6|6|®
l@@@@
D|D|D|D

Answer: 2.5

<« Fraction

line O

WENWeWe®LLSN

=
=

VENWEWINE

dé

&ble ways to grid % are:

Sl O,

oI (&

Answer: 201 - either position is correct

2

\S

@
QIO

©
OO,
0@

IROO0S

ucl IS

S
-

2

OO

@,

Q

0,
®

@

e

A
)

@
ucl Io9LS

©
@
@

@)@
©|©|©
9)[0]|©][©]
2|2|2|2:
©/E)I©)][€)
@|(@|@|@
O166][6)
@..@
D|D|D|®
NOTE: You

may start your
answers in any
column, space
permitting.
Columns you
don‘t needto

use should be
left blank.

LIS
©
1
g
:

&
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|5-x| =4 n

An angle with a measure of — radians has a
The value of one solution to the equation above is 1. : 6
What is the value of the other solution? measure of d degrees, where 0 < d < 360. Whatis the
S- a=-4 valueof d ?
i X180 _ 23 - 2fo

%= b

If f(x) =x%-4x+10 and c is a positive integer less 20
than 5, what is one possible value *f(c) ? A A,
: : 2
Ced 5 Ra)- @ -u ‘\m The f““‘:t&ls defined by f(r) = (r—4)(r+ 1)~ 1f é&"

C=3 —> 200- “&@" 9 - 12410 -(%) f(gé&r, what is one possible value of h ? éz
Ce9 —s P(2)= BN 110~ 4-8+0(8) A) "
Cel — £(1 4»%%#-:- 1-q+h® ‘§ ‘? (h' 5) = (}1'3 -W"rﬂ
* PRy . uX
&

18 cgg cga =%, W=
Studed$n a science lab are working in groups %‘b %‘b
to ild both a small and a large electrical circuit, § Q

&ge circuit uses 4 resistors and 2 capacitor Q : Q
d a small circuit uses 3 resistorsand 1 ¢ £ Q
< @ QQ

There are 100 resistors and 70 capacitor e,

Q" and each group must have enough re&’s and Q"

capacitors to make one large and one small circuit.
What is the maximum number of groups that could

work on this lab project? = |4 3 raup 5
[.maﬁ_’ 4R y 2C
'!)M:l]l —l 3?' ) iC

T-I.'l'ﬂ!ll (R\ = ?R —_—
Tobal (€)= 3¢ —,

$

=93

g w5

i
3

STOP

If you finish before timeis called, you may check your work on this section only.
Do not turn to any other section.

N
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Math Test — Calculator

55 MINUTES, 38 QUESTIONS

Turn to Section 4 of your answer sheet to answer the questions in this section.

DIRECTIONS

For questions 1-30, solve each problem, choose the best answer from the choices
provided, and fill in the corresponding circle on your answer sheet. For questions 31-38,
solve the problem and enter your answer in the grid on the answer sheet. Please refer to
the directions before question 31 on how to enter your answers in the grid. You may use

any available space in your test booklet for scratch work.

o

riables and expressions used represent

fa calculator is permitted.

& Qe

‘S\'\

mbers unless otherwise indicated.

nless otherwise indicated.

igures provided in this test are drawn to g¢:

):\' 4. All figures liein a plane unless Dtherwi;:\ﬂdicated.

>

5. Unless otherwise indicated, the of a given function f is the set of all real

which f(x) is a real number.

S
\y

O
Q Qs
.@ S

30°

cl=¥ ¢

A=nmr
oy

x\3

T 53

V= {wh V = nr’h

==
3 r

The number of degrees of arcin a circle is 360.
The number of radians of arcin a circleis 2x.

= % nr’h

The sum of the measures in degrees of the angles of a triangle is 180.

0
S
S

&
Qx
<0

Unauthorized copying or reuse of of this page isillegal.
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Special Right Triangles

&
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1]
If m = 3, how much greater is 10m than 6m ?
A) 3 :
B) 4 fo(3)- 6(3) :_3?2-13
(1)
D) 30

Q Time (minutes)
N

The temperature, in degrees Celsius (°C), of a hot object placed in a

room is recorded every five mi ature of the object
(_ decreases rapidly at first, then decreases more slnwlg 3s the object’s

temperature approaches the temperature of the room. Which of the

following graphs could represent the temperature of this object over
time?

'E.":f 300 O 300
< 2504 @ 250

g‘; *E 200

3 1501 8. 1507

£ 100- S 100

2 o

&%I | I
&Y 05101520 25 30

%
%ob

10 15 20 25 30
Time (minutes)

Q“ C) T 250 QY 300
© 200 ! & 2504 q
2 £ 200
E 150 +—1+—"T—"T—1T— E ‘D
1 .
— o
E 100 [ & E 100
g 0 $ 5 50
2 of ] —— 2 0
0 5 10 15 20 25 30 0O 5 10 15 20 25 30
Time (minutes) Time (minutes)
Aprl QAS 2017 %%‘» @
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(r— 2)L=k~g"x+ 10)°

Which of the following values of x is a solution to the

Questions 5 and 6 refer to thefollowing information.

Nutritional Information for 1-Ounce Servings of

equation above? Seeds and Nuts
W Yxrlh= 2yto : Total fat Protein
A) -1 . ¥ Seed ornut| Calories i etiins)
B) 1 Rl = Pecan 198 20.2
C) 4 (- 6)(1"'1) s Pistachio 80 6.5
@ ) x—;} 5 234 Pumpkin 159 13.9 8.5
. f—g=Vi+lo w Sunflower 166 14.6 59
Walnut 185 18.5 43

A
&
&

Last year, 800 stuQ attended the career fair at
h

West High Sc is year, the number of students
who attend career fair increased by 5%. How ,:»

many stu s attended the career fair at
West chool this year?

%‘bag: 800 (4+5%) =840 §%‘b
@ D) 1,200 @

Q

&

Unauthorized copying or reuse of of this page isillegal.

&

The table above shows the calories, grams of fat, and
grams of prntﬁl in 1-ounce servings of selected seeds

and nuts.
@V
S

Q\ How many more grams of protein are i
of pumpkin seeds than are in one poun

pistachios? (1 pound = 16 ounces) Q ’ Pgﬂ;ﬂ-—-y 456 9w
noE 35,088 s '
B) 72 -gb 3
©) s &% Xlb= 88
D) 136

»

N
April QAS 2017 &
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Lionel purchases 1-pound bags of each of the
five seeds and nuts shown in the table. Of the
following, which best approximates the average
(arithmetic mean) number of calories per bag?
(1 pound = 16 ounces)

A) 150
B) 250 Slj.m =193+ 8o+159 4 [bb+85 =+88

C) 1,500

D m,f X lb= 252|.4

A pool y contains l,ﬁg cubic feet of water. A

ic feet per minute. Which of the followi

‘-/"'\
S\O?EQ ctions best approximates the volume 1&
»

cubic feet, of water in the pool ¢ minutee’ r
pumping begins, for 0 < £ <69 ?
v(t) = 1,385 — 20t
B) wv(t) =1,385-69¢
C) v(t) =1,385+ 20¢
D) v(t) = 1,385 + 69¢

N
April QAS 2017 %%‘»
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gins emptying the water at a constant rat@

$
-

S

At a snack bar, each medium drink costs $1.85 and
each large drink costs ¢ more dollars than a medium

drink. If 5 medium drinks and 5 large drinks cost a
total of $20.50, what 1s the value of ¢ ?

A) 045
M=1-85
040

D) 0.25 5M+ SL~ %-50

5 (1-85) + 5( 1-8540)= 20.5¢
Yl - Solve

C=0-9

& &
&

\aught a bus pass that had an initial value %\
* For every bus ride Kate takes, $1.80, the

’:» e bus ride, is subtracted from the value o pass.

What percent of the initial value of Kat%&s pass is
the cost of one bus ride? %Q

A)  1.8% ‘ ¢§°
B) /-8 x@%
C) 5% 20 &Q’

D) 98% @

Q‘o
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To determine whether residents of a community
would vote in favor of a ballot proposal to use
$100,000 of local taxes for additional playground
equipment at a community park, Jennifer surveyed
60 adults visiting the park with their children during
one week in June. She found that 45 of those
surveyed reported that they would vote in favor of
the proposal. Which of the following statements
must be true?

A) When the actual vote is taken, 75 percent of the
votes will be in favor of the proposal.

No prediction should be made about the vote on
the proposal because the sample size is too small.

B)
@ The sampling method is %‘U’Ed and may

produc

iased results}"»
D) Thesampling rw not flawed and is likely

to produce unbj esults.
&
»
X
&
S
o

.

If x4—y4 = —15 and xz—yz = -3, w@%eveﬂue

ufxz+y2?

@5 (22577,
By 4 Jgg‘f(xﬂuj )=-I5
i) 2
~3(2%y*)=-15
0} & (:I"+3’,'-'=5

&

Unauthorized copying or reuse of @f this page isillegal.
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Q)(
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=

3 56

O 7w | »
3:\' 52

: 0% 3
0 2 4 6 o8 10
)

"

Questions 12and 13 refer to the following
information.

A cable company recorded the percentage of households
in the United States that had cable television from 1987
to 1997. In the scatterplot below, x represents the
number of years since 1987 and y represents the
percentage of households with cable television.

The line of best fit for the data is shown.

Households with
y Cable Television
2 @
o S
o
2A¢ o
62 N

Number of &@mce 1987

2
®®

\g
Which of ﬂw&wing is closest to the equation of

the line of best fit shown?

7 (0,54)

A) y=54x+—

5

B) y=Zx—54
y_sx

C) & + 54
O""s
D) 2
= i
-

N
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1
|
1

i1 Oredit .
hjchqf the folloying is the best interpretation of Distance from Tara’s Home
:@w f the li for these data?

A%
th
)Q The actual increase in the percentage of

households with cable television each year

The predicted increase in th¢ percentagé)of

households with cable television eaclf year

ﬁ\) The actual increase in the number of households
with cable television each year

D) The predicted increase in the number of
households with cable television each year

Distance from home (miles)

. ! l ' ' l '
0 05 10 15 20 25 3.0 35 4.0

Hours

———————— _h Tara rode herfjicycle along a straight road from \
(z her hnme@staumnt and ate lunch. She then QS»
‘ss cunw ng the same road to a movie theater ‘ss
% tos ovie. Finally, she returned home on the %
E oad after the movie. Tara’s distance from \\
: e during the 4 hours she was out is show, e
V. aph above. How many total miles did sheéffid€ her

bicycle? 3 4+ 945
@ A) 5 é‘b&

S S
A gr@?lse owner purchases fertilizer in 60-gall % 10 %‘b
drihs. The fertilizer is mixed with water to mak C) 16 Q
al batches of solution. Each batch of sol S &
ade by mixing, 3 quarts of fertilizer with & D) 20 Q
{ What is the mai}mh olution ‘§
Q *  that can be made from one 60-gallon & of Q *

fertilizer? (1 gallon = 4 quarts)

A) 45

@B;) 60
80
D) 180 1 batch—s 3 Quars

QL—_—pQuﬂ

o= 2l = 8 boatches

A (bo)= Ao ‘iuuﬁ-s

N
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Unautharized copying or reuse of any p&f?page isillegal. 46 \\
S S
XV XV

S &
<> <0



https://v3.camscanner.com/user/download

Ryan has 1,500 yards of yarn. He wants to knit at
least 2 scarves and at least 3 hats. Each scarf requires
_300 yards of yarn, and each hat requires 120 yards of
yarn. If s represents the number of scarves and

h represents the number of hats, which of the
following systems of inequalities represents this
situation?

During a storm, the atmospheric pressure in a
certain location fell at a constant rate of

3.4 millibars (mb) per hour over a 24-hour time
period. Which of the following is closest to the total
drop in atmospheric pressure, in millimeters of
mercury (mm Hg), over the course of 5 hours
during the 24-hour time period?

><) s+ h <1500 8 V7, 2 (I\}Iﬂte: 1,013 mb =760 mm Hg)
= A) 26
>3 hy3 B Gg) 34 (mb)— ;\mur
) 2s+3h<1,500 J00 S+ 1% h < | C) 17.0 N—>
X ;ié 500 D) 22.7 . 5(3‘.{‘) o mb
- A A A
ﬁ i;:;ﬁ_ 1,500 %5\' . éﬁ" 1013 mp—> Fhe mm H_‘j és\'
h>120 @ @ ey @
m5+120 ’,\{]ﬂ &\\\ A= ﬁf;k Q\\\\

{ S
mg%
P

Michael performed an experiment where he tossed
two coins, one dime and one nickel, at the same time
and recorded whether each one landed on heads or
tails. His results are shown in the table below.

Nickel
ads| Tails
—— Headsf ¢ 27 26 = 53
Tails 24 23

N——%0p

For what percent of the tosses did the dime Michael
tossed land on heads?

A) 47%
B) 49% 03 X 100
C) 51% 00

o

Unauthorized copying or reuse of
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N
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‘ .3 T gl cars were purchased by th

On ifs opening day, a car dealers ad an inventory  __ ¢
ars. During the first 6 s, 18 additional ‘f menlh= '{
rship each week, and =3

the sales team sold an av@ of 15 cars per week.
gthts, which of the following
e car inventory, c, at the

er opening day?

During the first six
equations best mQAgis

dealership H& S

g

A) c=-t+29

B) ¢c=t+29
3

C) c=—t+29
2

@c=3t+29

April QAS 2017

&
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A) 4 dﬂ_ = % Q00
z " Arrangement I
a’ E 000 000
o4 R o T A
2 ? 000 000
€) ﬂ? Arrangement II
i 000 000 000
D) 44> =3 o | | o ab
: 000000000
\ \ Arrangement 11 \
‘S% ‘5% O seat [ ]table ‘&
& 8 o

\EE’[ coordinator at a banquet hall is give@

of arranging seating for an awards cere

’:»Q ’:» he figure above shows the first three pos
Q arrangements of tables and the maﬂqumber of

%‘§ %‘b seats in each arrangement. If the nu of seatsin
‘b% ‘b% each successive arrangement is ingfeased b @
% the preceding arrangement, wh f the following
» L

represents the maximum n r of seats around

g n tables?
€§s é A) 61 €§§H@3

¢ ¢ Qo Y
C) 6(n+1)

= 4(1)4b

D) 6(n+3) b= 2

H: 6n+2.

A
April QAS 2017 %%‘» @
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The graphs in the xy-plane of the following quadratic
equations each have x-intercepts of —2 and 4. The
graph of which equation has its vertex farthest from

o (+2)(2-4)

(W)y=-7a+2)k-0). .2 23

the x-axis?

=1

B) y=—(k+2)(k-4) = &
0) y=-~(+2)(k-4) = 5}

&°

2x+3y=5
4x +cy=38

@S In the system of equations above, c is @tant. For

Q‘.

what value of ¢ will there be no solugio®’(x, y) to the
system of equations? Fo \

A) 3 -

B) 4 &4 @

c) 5 c=%=b

(D) 6

&

Unauthorized copying or reuse of of this page isillegal.
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The polynomial p4 + 4p3 + 3}31 —4p — 4 can be
written as (p* — 1)(p + 2)*. What are all of the roots

of the polynomial?

A) =3 andl P—_‘ ;‘;’
B) -2,1,and 4

@ _2,-1,andl (P2 %
D) -1,1, and 2 =i

& &
$

>
@ o

hich of the following describes an EIPD\@
relationship between the pair of variab!{& d?

@ For every 3-millimeter increase the
thickness of a piece of glass, tensity of light
I traveling through the g]§ creases by 20%.
B) Eachseconds,acar & C decreasesata
constant rate of 10 érs per second.
With every 33@11{:1‘&35& in depth d below the

surface of wa € pressure p on an nbject
increase .7 pounds per square inch.

C)

D) Thedepth d of water remaining in a reservoir
decreases by 15 inches each minute m as the

water is being pumped out at a constant rate.

N
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Questions 26 and 27 refer to the following
information.

A researcher is investigating the relationship between the
price of a four-pack of AA batteries at a convenience
store and the number of competitors the store has. She
defines a store’s competitor as another similar store
within a 1-mile radius of the store she selects. She selects
32 convenience stores across a state at random, and for
each store, she records the number of its competitors and
its price for a four-pack of AA batteries. The results are
shown, along with the line of best fit, in the scatterplot
below.

Price (dollars)

@0 1 2 @ 4 5
§ Number of competitors
Qs p

&

. &
- Q

Another convenience store in the same state sells a
four-pack of AA batteries for $4.89. If the store’s
price is more than that predicted by the line of best
fit, what is the least number of competitors the store
could have?

A) 1
B) 2

G

April QAS 2017 %5\'
Unautharized copying or reuse of any p ; page isillegal.

N>
Koy

&
<0

The line of best fit passes through the point
(18,-0.12). Which of the following can be concluded
from this?

The line of best fit will not model the price well

for a store with a large number of competitors.

B) A convenience store with 17 competitors can no
longer sell four-packs of AA batteries.

C) A convenience store with 17 competitors cannot
decrease its price any further.

D) A convenience store cannot have more than
17 competitors.

The figure above shows that the shaded triangular
region with a hypotenuse of 5 centimeters (cm) has
been removed from a rectangular tile with
dimensions x cm by y cm. Of the following, which
best approximates the area, in square centimeters, of
the tile before the piece was removed?

Al 15 (5V3 ) (3-5) = b4-95

B) 43

Ne
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Thomas is making a sign in the shape of a regular
hexagon with 4-inch sides, which he will cut out
from a rectangular sheet of metal, as shown in the
figure above. What is the sum of the areas of the
four triangles that will be removed from the

rectangle?
8v3 4 ( 4l = 83
B) 8v2 ‘S%
C) 4v2 '\\% \
D) 16 \\ \\

&
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Which of the following equations describes a circle
with radiuhat passes through the origin when
graphed in the xy-plane?

X) (x-52+(y+5)2=10

2

[ = loo (616) pug in +

get oo

R) $-5)2++5)?%=100
ﬁ) % -10)2 + (§-10)? = 100

2 s (§+ 545)1 =100
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il .
Answer: 75 Answer: 2.5
Writ
For questions 31-38, solve the problem and gnrsluﬁe?}# 7 ! 12 2‘ |5
enter your answer in the grid, as described in boxes. ®|()| |< Fraction DD
below, on the answer sheet. QIOI0IO line Q|0O|@|0O)|<« Decimal
©(©|©@ ©|O|@| Po™
1. Although not required, it is suggested that 9O . @ @ @D @
you write your answer in the boxes at the top @:’ @) '@ . | @) . @) @'
of the columns to help you fill in the circles Grid in_ 3|33 @ 33|33
accurately. You will receive credit only if the result.’) | 2| (2)|(@)|@ (4)|(4)|(2)|(4
circles are filled in correctly. Ollee]6 OOI6][ |
2. Mark no more than onecircle in any column. (6)|(6)|(6)|(6) (6)|(6)|(6)
3. No question has anegative answer. ® 7DD @DIDIDD
4. Some problems may have rlﬁthan one g\> @ @ (8)
correct answer. In such‘S@ grid only one 9)|(9) {@@) 999|®
answer. i ‘ |
5. Mixed numbers ?5 3-1 must be gridded A ’\? id 2 are:
; 5 g ccep Q ays to grid 3 are:
as 3.50r7/2 is entered into the /|3 6
Al A
¢ & ; 31 1 @'. 8
grid, n@e interpreted as = +not 33 ) N
STOOI00 @ R l®,
6. Wal answers: If you obtain a dF-:cimaI %‘b% oo | JO®
§ er with more digits than the grid can § 90000 © DIOO)
Srmeamnnimammeenreand® 2022 (@ S
Ny ' K\ 3G0@ |3 3|Q|®
é. Q‘. @|3|@@ |@ @|3|@
GGGl |& B|Q|®
®|e|E|® |® ®0®c
D0|0|@| |@ DD\ @

Answer: 201 - either position is correct

NOTE: You
2|01 2 O] 1 may start your
answers in any
88 Q Q 8'8 ® column, space
— —-  permitting.
0|@|© ® 0 © Columns you
DD|0|@ |DD|@D| don'tneedto
D@ DD |@D|(D|(D| useshouldbe
i laailfa ey e, | o | | e IE'ft blank.

D
e o
N
oS
Q)(
<0
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y = (:u:—iEi)2 + 3is the
image of the graph of y = (x + 5)2 + 3 after a

In the xy-plane, the graph of

translation of how many units to the right?

Vertex (- 5, 3)

When 9 is increased by 3x, theresultis greater

than 36. What is the least pns’&ﬂe integer

value for x ?
4

&
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Yertex( b93)

Century and Region of United States
Presidents’ Births as of 2014

Century
18th %b« 20th
Northeast '
South (%T ( %’)
Midwest ? i
West 0 |=8"] 2

The table above shows the distribution of

United States presidents according to the century
and the region of the country in which they were
born. Based on the information in the table, what
fraction of presidents who were not born in the

IEIEEW&E_H’[HF}F were born in the South?

043

5+9+0+0+4 3+3+?‘§‘\\<\%
b 4

S

&°
If x# -1, what is thg&ﬁi 1}(2 +2x) ?

W
&

April QAS 2017
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Ticket Prices by Row Number Questions 37 and 38 refer to the following
- : . information.
Row number| Ticket price
1-2 §25 An instrument shows the number of revolutions per
3-10 $20 minute made by each tire of a car. In each revolution, the
11-20 $15 car travels a distance equal to the circumference of one of

its tires. The circumference of each tire is equal to 27,

The price of a ticket to a play is based on the row the N

seat is in, as shown in the table above. A group wants
to purchase 10 tickets for the play.

They will purchase 3 tickets for seats in row 1.= 75 -

They will purchase 2 tickets for seats in row 3. If the radius of each tire on Maria’s car is 0.30 meter)
; _ _ _] 20 what is the approximate speed of Maria's Cat; e
They will purchase 2 tickets for seats in row 4— HoATaRT e D R B
They will purchase 3 tickets l&ats in row 12. = | showing 77 olutions P@‘ \
v v 5 (1 kilom 000 meters) QS»

What is the average (arith ean) ticket price, in %
dollars, for the 10 ticket\ regard the $ sign when . M) -‘E) X379 X bo =881 ~ 3 é’
gridding your answer\& \\\ ‘\\\\
3(250+ Aat)+ -?t'-'MJ-rSf@QO ‘& @

. rd
& B O

@ @ Maria gets new tires for l'u{@ he radius of each of
Q Q her old tires is 0.30 mete ¢ the radius of each of
$ \? her new tiresis 11% 1 an the radius of one of

=“ chdsed ;

A fashion buyer for a large retail Stﬂl'% her old tires. Wha 1‘ circumference of each new

315 items directly from the manufact or a total tire, to the nearest%ahth of a meter?
of $6000. Some of the items were dresses purchased ]
: + 0} X0-5= 0-333
for $25 each, and the rest were shirts purchased for ; ( | J 3
$10 each. How many more dresses than shirts did the C = 21 (0-333)=2-0923 2 2.1
buyer purchase? : i

R 1%

25d.+ 10 S= bows
Mode S,

ol=19% ,8=125 STOP

|9¢-125 = 45
If youfinish before timeis called, you may check your work on this section only.

Do not turn to any other section.

N\
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xV xV xV

Question-and- @ Service Student Guide $$% $$
N NI . AS——
An@ Key Determlne F&'Scures Q
» »

mg Test Answers §

Q‘ Correct & Correct Q" Correct Correct

Question # Answer Question # Answer Question # Answer Question # Answer
1 C 14 B 27 D 40 A
2 A 15 A 28 A 41 B
3 C 16 A 9 C 42 C
4 B 17 C 30 C 43 A
5 B 18 D 3 B 44 B
6 A 19 C 32 A 45 D
7 D 20 B 33 A 46 C
8 c 21 C 34 B A7 D
9 C 22 C 35 B 48 B
10 A 23 D 36 D 49 B
1 D 24 A 37 D 50 C
12 D 25 n 38 C 51 A
13 B 26 s 39 \ 52 C \

&

Reading Test Raw Score

(Mumber of Carrect Answers) %\

Writing and Lang@ e Test Answers
@ Correct %QQ Correct
Question # ér Question # Question#  Answer oE% Question#  Answer

fmﬁ
%

1 A 12
2 C 13 , D
3 14 25 38 B
‘ A 1 ) L 26 )’ D 37 C
5 B - | k. 27 B 38 C
“ 6 A ) § A % C 39 B
Q 7 B 18 B B 40 D
8 D 18 A 30 B 4 A
9 C 20 A £} D 42 D
10 B 21 L 32 C 43 C
11 D 22 C 33 A 4= D
Writing and Language Test
Raw Score "U" indicates a question that did not perform as expected and
(Number of Carrect Answers) has been removed from scoring.

CamScanner
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N N
%‘b é‘b Question-and- @m‘ ice Student Guide
‘b %‘b é

An@ [(ey Determlne H&'Scures (cuntmued}&

Test No Calculatur{

Q‘ Correct Correct Q" Correct Correct

xV xV xV
Servi

Question # Answer Question # Answer Question # Answer Question # Answer
1 B 5 B g C 13 B
2 & D 10 A 14 B
3 A F) C 11 b 15 C
4 c 8 A 12 D
Question # Correct Answer

16 8

17 6.7.10

18 14

149 210

20 27

Raw Score

Math Test - No Calculator @% @

m%
@2 (10| (MO |

§
:
|

L
=k
=k

32 10

33 1/2.5

34 2

35 20

36 65

37 88

38 21,2110

Math Test — Calculator &
Raw Score % “U*" indicates a I:hat did not perform as expect
(Number of Carrect Answers) @ has beenr Oom scoring. Q

K-5MSAO09 x@
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